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Figs. 1la-1f. Histogram comparisons of A delay, B delay (excluding overlapping A delay), and applicant delay between general
sample and pharma sample. In each instance, the vertical axis represents frequency of occurrence and the horizontal axis represents
number of days of delay. Note that each chart excludes instances of zero delay so as to avoid disproportionately large bars in the first
histogram bin. (Corresponding to Figs. 1a-f, the number of zero values not shown are 24, 30, 61, 63, 50, and 29, respectively.)
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